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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Answer any five questions.
3. All questions are of 15 marks each.

4. Answers may be written either in English or Hindi:
but the same medium should be used throughout the

paper.
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1. (a) Differentiate between Gross DomestiC Product
). If a

(GDP) and Gross National Product (GNP
hen GNP

country employs many foreign workers, t
will be more than GDP for this country. Is this

(6)

statement true, explain?

n the effect of Current account deficit of 1

(b) Explai
ion on capital account, net foreign assets and

(4)

mill
national wealth of a country?

(c) Explain the expenditure approach of calculating

GDP.
DP (5)

(%) Fa W Iedar@  (STE) IR whd T IAE
(Shoerdt) =& <ftr stz T e AR W HE

AR R o o 3T 2, O 39 W @ e GNP,
GDP ¥ 3 =nm) wugmm%,mv?
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al bank money also called high
concept of

(a) Why is centr
lier is 5 and

powered money? Explain using the
multiplier. Assuming that money multip
40,000: calculate the

overall supply of money 18
central bank money? (5)

re the factors that influence total demand

(b) What a
for money? What happens to the equilibrium
interest rate (assume there are no banks) in the
(5)

following cases

(i) decrease in nominal income

(1) decrease in money supply
(c) What happens 1O the value of money multipli
when there is an increase in the proporti plier

e want to hold in the p ion of

orm of

money pcopl
y. Assume that all individualg g
© not hold

and {hat the r€serve ratio s (
dalCulate ;

currenc
currency
monetary
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) Amount of Reseryeg
(i) Money multiplier

(i) Total money supply (5)

() 39 3T T R I AR 5w Rt e o
27 T D FTIURVT T JANT S gy AReAT e
7E A §Y T A1 Toren 5 2 okt wpmr 9w SR
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27 ffaRae wmel ¥ wger = X (W o foR g
d& =8t §) o o B 87

(i) = 3 &
(ii) Fa1 smafd F FH
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(b) “Seigniorage ig first ap increasing function; then a

decreasing functiop of nominal money growth”
Explain. ()

(c) Discuss the stabilization programs that are
implemented to end hyperinflation? Can they fail?
What are the costs of this stabilization? (8)

(%) Ehifa & = oy 27

(@) “Seigniorage 98 T 99N wer 2, TR aidfe
T gfE 1 T e AR SHINTg)

() A R W T Y w o wn R
e FEHER W T W R Y Ae S gy
F? Tq Rudaor &t SR W= 2 ?

(a) Why is aggregate supply curve vertical in classical
approach. What factors determine the aggregate

supply? (6)

P.T.O.




(3)

c :
(c) Show the effect of an Increase in the government

deficit spending (which is financed through sale
of bonds) on aggregate demand, output and price
level using the market for loanable funds of the

classical mode]. (6)

(%) Wg&ﬁwﬁwaﬂﬁwaﬁaﬁaﬁéla@
I T AT ¥ wRE PR w27

(@) i & TR Aied ¥ IT HRHl AR T W
IR SR ISR A g T

() wred dew & o A o D e Ao I
T Fel A, Jere AR A TR T

& U

: ' ax rate
5. (a) Explain the effect of an increase 11 the ta

on multiplier, How will an incre. he following
affect the output and interest rat¢ I :

cases under the 1S-LM model”

ase in tax rate
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(i) money stock is kept constant

(ii) interest rate is kept constant? (7)

(b) Consider an economy where

Gross private domestic Investment = 35
Government purchases of goods and services = 40
GNP = 200

Depreciation = 10

Current account balance = -20

Taxes = 50

Transfer payments from govt to the private sector = 25
Interest payments from govt, to domestic private
sector = 20

Factor income received from abroad = §

Factor payments made to the rest of the world = 10
Find the following using the information gjven - (8)

(i) GDP

(i) Net factor payments from abroad
(iii) Net exports

(iv) Consumption

(v) NNP

PTO
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(vi) Private savings
(vii) Government savings
(viii) National savings
(%) T | I D R A ghg & T AR ST

FETE - ToIH A(Sel & TEd [eterac AFel A o ohl
¥ g ASCYe 3N O R A DY FAfGA HGM 7

(i) ¥ wfem = fer @ o @

(i) =t = = Rer w@r W 87

(@) vw e W fER W W
qer et W fem = 35
e SR A A WER WA = 40
SgAq = 200
TEE = 10
] @ AW = - 20
N = 50
WHR ¥ ok &= & FAH N FRIRT = 25
WHR ¥ =y sperrl e, B 8 @ few = 20

ﬁém%%mamza

T R A Ry e wwE EA = 10
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6. (a)C = 50+ 0.8 YD
I =100
G = 150
Tax rate (t) = 0.2
TR = 50
e multiplier in this mode]

(i) Calculate th

(i) Calculate the equilibrium leve]
of inco
me

(iii) Calculate Budget surplus
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(iv) Suppose t increases to 0.25 Calcu]at th
. € €

new equilibriuym Income and new multiplier

(v) Calculate the change in the budget surp]us.

Would you expect the change in the surplus

to be more or Jegg if ¢ = 0.7 rather than
0.8?

(vi) Why is the value of multiplier equal to 1
when t = 197 (8)

(b) Within the classical model, analyze the effects of
an increase in the capital stock of a nation on

(7)

output, employment, and real wages.

(%) C =50+ 0.8 YD

I =100
G = 150

& 3{(’[) = 0.2
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(iv) 7 AR
. tmo.zsﬁrm%'qéﬂﬁﬁ?
Wwaﬁmaﬁ'l

(v) st :
?ﬁqﬁaﬁaﬁmﬁlwm
;”":% %aﬁﬁqﬁqﬁaﬁqmmm
c=08 & o™ 0.77

(vi) t=1 B R o6 A AT & TER A Bl
? 1 [

(@) FeliftereT Aed @ oY, Jeda AR AR IRt
m@mww%qﬁnﬁ@ﬁﬁq@%m
oo | -

lc

(a) Using 1S-LM

can be used tO
ue to expansionary fiscal policy?

avoid the problem of crowding
out

that arises d

(7)

b) How is an ipvestment subsidy different f
‘ . from
fiscal policy? Explain the effect of

expansiona
investmem subsidy 0% interest rate a
nd output usi
sing
(s-LM model ®)

P.T.O.



(@) e T Y ¥ PR ahas frg ger R
27 JSTH - G AT hT ITNT e Y T X 3N
I R Faw afeqdt & v & e w1

8.  Write short note on any two of the following :
(7.5 each)

(i) Balance of Payments
(ii) Liquidity trap

(iii) Hyperinflation

raffag ¥ A el @ w ot oo AR
(i) @ Ager

(i) wRET S

(i) SR TR
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